GHISFE HAKR+TFHBIEESE =mA - mETE
<« ADDEB> (BEfi : FF)
RI= TR

1 #HEIA 135,000
2 HZFEEFNA 0
3 HBERURMEINA 7,970
4 KEREEEOEZIA 0
5 #MAERUNA 0
6 BEAZUNA 0
7 BNEEEZINA 0
8 HEEREEREZUNA 0
9 EEUNA 9,584
10 FHEUNA 3,835
11 RIFERHSE 37,992
AT 194,381

< DER> (BEfi7 - FH)

NI= T HEE

1 KEHESEE 28,432
2 HREENE 30,826
3 EREHE 10
4 IEESFEMSIREE 2,000
5 MIXDXIfFEsZH 19,800
6 HEIREE 24,790
7 EBERERERAE - MihEzH 30
8 Bffe&xH 0
9 BEE&H 0
10 /& 19,000
11 HEE%H 0
12 #HBHBEHEE 38,914
13 BEERSKRUVEEERE 8,179
14 FrxinEszH 19,500
15 FimE&E 2,900
fas=rq 194,381




